Cfe Higher Maths Homework 2
Unit 1: Expressions & Functions: Logarithms and Exponentials
1.
Solve these equations: 
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2.
A radioactive element decays according to the formula 
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 where m is the mass after t 


years and 
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 is the initial mass.


(a)
What mass remains after 25 years if the initial mass is 1000 grams?


(b)
How many years will it take for the mass to fall by 90%?

3.
(a)
A tractor tyre is inflated to a pressure of 50 units. After 24 hours the pressure has droppedto 10 units.   



If the pressure after t hours is given by 
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 find k correct to 3 decimal places.


(b)
Serious damage to the tyre results if it is used at a pressure of less than 30 units.



If the farmer inflates the tyre to 50 units and then drives for 4 hours, can he drive the tractor further without risking 
                             serious damage to the tyre?

4.
 Each of these graphs illustrates the law 
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 Find the values of k and n.
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